[This question paper contains 16 printed pages.]

Sr. No. of Question Paper : 8202 C Roll No....eeveeeeen
Unique Paper Code 1 241302

Name of the Paper : CH 3.2 - INCOME TAX LAW & PRACTICE

Name of the Course : B.Com. (Hons.), Part II

Semester ) 1

Duration : 3 Hours

Maximum Marks 2 75

Instructions for Candidates
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SECTION - A (¥ )

(a) ‘Income of previous year is chargeable to tax in the immediately following
assessment year.” Is there any exception to this rule ? Discuss. (5)

(b) X, a resident in India, aged 63 years, earned agricultural income of
Rs. 3,00,000 during the previous year 2011-12. Compute his tax liability
assuming that he has non-agricultural income of Rs. 6,90,000 and he
contributes Rs. 60,000 towards public provident fund. (5)
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(a)

(b)
(c)

2
Discuss the provisions of section 10(37) regarding exemption of Capital gain
on compulsory acquisition of urban agricultural land. (%)
OR

How will you determine the residential status of Hindu Undivided Family ?
Explain fully. (5)

Who is regarded as an ‘assessee” under Income Tax Act ? Discuss.  (5)

For the assessment year 2012-13, ‘A’ is a non-resident in India. From the
information given below, find out his income chargeable to tax for the
assessment year 2012-13 : (5)

Rs.
(i) Capital gain on sale of house at Pune
(sale consideration is received in India) 1,00,000

(i) Technical fees received from an Indian Company
in Germany for advice given by him in respect of

a project situated in Iran 2,00,000

(i) Salary received in Sri Lanka for rendering
service in Kerala 3,00,000

(1v) Interest on German Development Bonds
(two-fifth is received in India) 4,00,000

(v) Past untaxed foreign income of 2002-03 brought to
India in 2011-12 5,00,000

(&) ‘9 A W I e i 9§ ¥ W A B R ) = 5w e e

JuaE g 7 fREee &

(@) ‘T T v et E, R g 63 af 21 T 3 20m-12 ¥ I FR

3 ¥ 3,00,000/ - M1 g AAHR FTR FES B AT F T I W-F
AT T 6,90,000/ - & 3R I wdww vl A ¥ % 60,000/ - v fEar
21
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(@) el A o B s e el T W W g B WA U 10(37) &
g @ AR A == @l
a1

(37) R afrwmfo wRar @1 Farlla & smg 3 Feku w3 7 of @ 3 we
ol
(a) FaER S @ s wEm’ Y e wa @ 7 T &

(@) == Frufor af 2012-13 & PR ‘f U @ aFEd i A S g R
R W Y e 7 2012-13 @ R Iad wX-a9rg s Frife i -

(i) ‘@ ¥ v A A R S A ol
ot wRrwm s § e gan) % 1,00,000

(i) o Rum e aRaeET & e W wee w2
T W UF RO SO ¥ T g qoh < 2,00,000

(iii) @ ¥ Ja1 9o T B forg i ¥ W IqT T 3,00,000
(iv) S faenrg dfe W = (2/5 W 9IRS ¥ W fwar ) € 4,00,000
(v) 2002-03 ¥ Gaftm e s R W = e & e

T AT, A 2011 - 12 R RS AT I - . 5,00,000

SECTION - B (3T &)

2. B (Age: 56 years) receives the following Incomes from ABC Limited during the
year ending 31-03-2012 :

(i) Salary @ Rs. 65,000 p.m.
(i) Tiffin allowance (actual total expenditq‘ré :'_Rs. 20,000) @2,000 p.m.

(iii) Reimbursement of medical expenditure for the treatment of ‘B” and his family
members Rs. 35,000.
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(iv) Transport allowance @ Rs. 1,000 p.m. (actual total expenditure : Rs. 7,000)

)

(vi)

(vii)

(vii1)

(ix)

(a)

Unfurnished flat provided at Meerut at a nominal rent of Rs. 6,000 p.m.
(rent paid by the employer: Rs. 18,000 p.m.)

Employer Company sells the following assets to ‘B’ on 10.01.2012 :

Assets Sold Car Computer Fridge
Cost of asset to the employer Rs. 4,00,000 Rs. 60,000 Rs. 20,000
Date of Purchasé:

(Put to use on the same day) 10-06-2009  12-07-2008  05-04-2009
Sale price Rs. 2,00,000 Rs. 8,000 Rs. 12,000

On October 1, 2011 the company gives its music system to him for domestic
use. Ownership is not transferred. Cost of music system (in 2001) to the

employer is Rs. 15,000.

He has contributed 18% of his salary to recognized provident fund
account to whfch his employer made a matching contribution: Interest
@12.5% p.a. amounting to Rs. 50,000 has been credited to the
aforesaid recognized provident fund account during the previous year on
10.12.2011.

He donated Rs.18,000 to National Defence Fund.

Determine the total income of ‘B’ for the assessment year 2012-13, AlsoA

compute his tax liability. (15)

OR

R owns a big house. The house has three independent residential units: Unit
1 (50% of the ﬂddr area) is let out for residential purposes on a monthly rent
of Rs. 16,000 (this unit is, however, used by him for his residential purpose
from Jan. 15, 2012 to March 15, 2012) A sum of Rs. 1,000 could not be
collected from the tenant. Unit 2 (25 percent of the floor area) is used by
him for the purpose of his residence, while Unit 3 (The remaining 25 percent)
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is used by him for the purpose of his business. Other particulars of the house
are: Municipal Valuation: Rs. 3,84,000 municipal taxes (paid): Rs. 32,000,
repairs: Rs. 40,000; ground rent: Rs. 16,000; land revenue (paid): Rs. 9,800;
insurance premium: Rs. 16,000; and interest on capital borrowed for payment
of municipal tax: Rs. 14,000.

Income of R from business is Rs. 4,61,200 (without debiting house rent and
other incidental expenditure including admissible depreciation of Rs. 1,600
on the one-fourth portion of house used for business).

Determine the taxable income of R for the assessment year 2012-13.  (10)

(b) Explain the provisions of section 54 B with regard to capital gain on sale of
agricultural land. - (5)

R (G - 56 ) 31032012 F T ¥ ¥ vERt oo @ Fr=iforRaa sma W =
g -

(i) 997 @ & 65,000/ - WS |
(ii) ¥R 9o (IrFEfeE 9 =9 - %.20,000) @ ® 2,000/ - AfoE |

(i) M A IRk Ig> Raw F G P IR dE WRew = AN W
% 35,000/ -

(iv) 9RasT war @ % 1000/ - wiowe (awdfas @ =@ - & 7,000) |

(v) 9 % 6000/ - Wit & A W W A IJudwr FA T FEERd Wi
(P 2R s foar famman - ®018,000 / - SRATE)

{(vi) Frm @ g oS W F 10012012 B Feafies @af = -

et E wul

R ER ohd forat
i = qufy @ ane T 4,00,000 . 60,000 T 20,000
wie @ fafy 10-06-2009 12-07-2008  05-04-2009
(F@ for @ wawr & = )
g T % 2,00,000 % 8,000 % 12,000
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(vii) TR 1, 201 W HTN FR IA WA IV B v wwwn waferwn R syem
AT | I AT HAFR I8¢ & far w1 P g w=forw fwew 2000
¥ T 15,000 A @WAST AT AT |

(viil) T FT AAT W e R A 18% e @ # gk ed g 9
T WA JTN AR AN o B | Jad A W siier B wm A
T & o1y 10.12.2011 Y 12.5% N 9ffiw A T 50,000/ - AT A H 7w
T | '

(ix) e T qem FW ¥ 18,000/ - w1 T Raw

T e 7 2012-13 @ o f W N FA 3@ Fw W el W= Pl
& |
ar
(1) TV, v T W B AMeww T IR A A WAy g § - gfie-
(50% TR TRar) % 16000/ - iR frad € X ¥ smadm Swa @ fog e
2 (Rg @ gfte o1 Swam w=ad 15, 2012 ¥ A 15, 2012 @ @ JEhr @ R
Ig TR U FEEE watew & e R ) 1% 000 9 9y RRder A age
& 8 9IS | AT -2 (25% TR gRAT) T WA I9S BN Y B w D R fea
T, WAE aFe-3 (AT 25% YRR TRAT) T WA 98 F9 FaaE & R wwa
2 | W g o faeR @ AR ¥ - TR T - € 3,84,000; A
ferar T AFEEfereRT &Y © 32,000; WO U T 40,000; W femman = 16,000;
YA feran i ff T = 9,800; AR G % 16,000 3R TRAfoRRT B W
WA o & Y JuR o T OO WS € 14,000 |

T ol AR A T 4,61,200 T F BR B (TR @ 3R I s @t
Tl e Ty o, forad =R 2 e wivr 3 @) w1 @ e - BR| @
TE A (A T 1600 N WA )

X FuRe a¥ 2012-13 & fog T N Ww-3vm Fm S AT )
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(=)

3. (@
(b)
(c)
(a)

7
FY @ ey ¥ T A @ T F uR 548 ® wEuEl @
Gl “
M purchased an asset for scientific research for Rs. 15,00,000 in the previous

year 2005-06. During the previous year 2011-12, the said asset ceased to

be used for scientific research.
The following information is also submitted to you :
Profit from business before depreciation Rs. 5,00,000

Written down value of block of assets (15%)
as on 01.04.2011 Rs. 10,00,000

The scientific research asset if used for business shall be eligible for
depreciation @ 15%.

Compute the total Income if the scientific research asset is sold for
Rs. 25,00,000 assuming :

(i) It is sold without using for business.

(ii) It is sold after using for business.
(Note: Cost inflation index for 2011-12 : 785 and for 2005-06:
497) (5)

Discuss the provisions of section 43-B regarding certain expenditure allowed

on actual payment basis only. (&)

Discuss the following with suitable examples :

(i) Grossing up oflottefy income; and

i
3

(i) Grossing up of interest on securities (5)
OR

C (age: 48 years), a tax consultant, who maintains books of account on cash
basis, furnishes the following particuiars of his income for the previous year
ending March 31, 2012 :

PTO.
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Receipts and Pavments Account for the year ending 31st March, 2012

Rupees Rupees
Balance b/d 3,60,000 | Purchase of furniture 28,000
Fees from clients : Car Expenses 1,22,500
___of2011-12 10,60,000 | Salary to Staff 4,41,000
___of 2010-11 43,000 | Office Rent | 20,000
Presents from Clients 20,000 | Office Expenses 10,000
Looan from P.P.F. 2,50,000 | Income Tax penalty 1,500
Contribution to PPF. 20,000

Purchase of notified bonds
of infrastructure company 6,000
Balance C/d 10,86.000
17,35,000 17,35,000

Notes :

(i) Depreciation on furniture is admissible @ 10% p.a. Depreciation on
Car is Rs. 1,35,000.

(i) 20% Car expenses are attributable towards use of car for personal

purposes.

(iii) Fees due but cutstanding is Rs. 4,50,000.

Rl

r

(iv) Income from other sources is Rs. 3,70,000.

(v) He purchased a Computer for Rs. 50,000 on March 10, 2011.
It is however, put to use on December 3, 2011. (rate of depreciation:

60%).

1

Determine the taxable income and tax liability of C for the assessment year

2012-13,

(10)
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What are the provisions for estimating the profits and gains of an assessee

engaged in retail business under section 44 AD ? (5)

(3) st ‘n’ 3w g T 2005-06 W AAw IgEUE ® fw ® 15,00,000 <

(2)

=0 E A ad 20n-12 X AP sEuE @ fie aw FoRT ® IR S
g B I A1

e e feeffad aon S wege o I 2
B9 A 99 MR § AW %. 5,00,000
0104.201 T ‘wufd & WE’ & (15%) il w1 T io,oo,ooo

7f2 A FEUE qaf &) SR @ forg AT X AR W @ @ 99 W 15% 9
w A TE A TR

af? I seEurT Jaft Y T 25,00,000 F ¥ R o S AT W G Iy AR
o &R T (i) 3R 3@ =R & foe yam | 'R e S S
(if) aR =& =R ¥ Wi D aw W W

(Rt - e =AY g@wiaw 20m1-12 & faw 785 Twr 2005-06 = R 497
2)

Had AEAAS HIEH & UL | FA |3 @A Gq00 - 43 - B & q@um= ®
Tt
g I da Fefeea & aR ¥ @ W
(i) wifed ¥ W FF N FHed HEW (grossing up)
(i) wienifml W sarT @i gahet FEW (grossing up)
M

MW (31g- 48 TF), M TF I~ WHEHRE 2 98 A & R W @A A H
T I 31 9N, 2012 N T B A F Rt o @ ¥ Frefelee famw
fow & -

PTO.



8202 10
31 WY, 2012 H WO 9 q§ A WA IR e qa o

¥ T
sy 3,60,000 | FRR @ @S 28,000
TMeH ¥ W e R = 1,22,500
2001-12 &t . 10,60,000 | T A I 4,41,000
2010-11 St 45,000
TEER ¥ IJIER 20,000 | ™ @ e 20,000
ffew F 7o 2,50,000 | wdied =g 10,000
FHT Il 1500
ifee A TR 20,000
THRIGER T &
Il =1 =it |de 6000
e s 10,86,000
AR 17,35,000 | ahr 17,35,000

feroafor
(i) wirer R wfoad 10% i WA 79 99 21 B W T € 1,35,000 B 1
(i) R = WM R §C 20% =TT T AFRE WaR_ B 10 F=1 ARAT |
(iii) <omm 3T W T 4,50,000 € |
(iv) 3= &l & W A % 3,70,000 2

(v) 3% 10 A, 2011 T % 50,000 N TH FFEAE @l A | e 3@ @R
FE 3 femm 20m @ wew Fram @ (3@ 9 W 60% B) 1

R Futoor 9t 201213 B o i A’ S - FE FR = ot T FHukm
et |
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SECTION - C (1 4)

4. X and Y are two partners, sharing in the ratio of 1:2. The firm is in the business
of manufacturing chemicals. The profit and loss account of the firm for the year
ending 31.03.2012 is as follows :

Rs. Rs
Salary to staff 1,89,800 Gross Profit 10,00,000
Depreciation 80,000 | Long-term Capital gain 40,000
Remuneration of partners : Other Business receipts 31,000
X 2,00,000
Y 1,60,000
Interest on Capital:
X 36,000
Y 25,200
Other Expenses 3,70,000
Net Profit 10,000
10,71,000 10,71,000

Additional Information :

(i) The firm completed all legal formalities to get the status of ‘firm’.

(ii) The firm donated Rs. 80,000 to notified public charitable trust which
is included in other expenses.

(iii) Salary and interest are paid to partners as per the partnership

deed.

PTO.
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(a)

12
(iv) Depreciation allowable U/s 32 is Rs. 78,000.

" (v) Income and investments of X and Y are as follows :

X Y

Rs. Rs.

Interest on Securities (Gross) 64.000 50,000
Dividend from foreign companies 7,000 11,000
Winnings from lotteries (gross) 4,000 10,000
Long-term Capital gains 80,000 40,000
Contribution to PPF 40,000 60,000

Find out the taxable income and tax liability of the Firm and partners for the
assessmemd year 2012-13. (15)

OR

-

D purchased Jewelery worth Rs. 80,000 during the year 1984-85.

During the year 1990-91, he further purchased jewelery worth Rs. 90,000
All the jewellery was sold by him on 15.05.2011. The Jewellery purchased
in 1984-85 was sold for Rs. 6,00,000 and that purchased in 1990-91 was
sold for Rs. 6,10,000. ‘

The expenses of transfer of Jewellary were 1% of sale price. He purchased
a_plot of land for Rs. 3,15,000 on 04.01.12 for construction of residential
house. On 15.06.12 he deposited Rs. 5,00,009 in the Capital Gains Account
Scheme and a further sum of Rs. 2,00,000 as on 15.11.2012.

He owns only one residential house as on 15.05.2011. -

Compute the capital gains for the assessment year 2012-2013. ,

[Note: Cost inflation index for 2011-2012 : 785, for 1984-85 : 125 and for
1990-91:182] (10)
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(b) Enlist the deductors for whom the e-filing of the statement of TDS is

mandatory.

&)

taq 3R 9 S Eier ¥ 3k I 12 = AR 2 W Sfiee Feln & =mw
F 21 31 AW, 2012 T T T F T HT AN qA WA w7 Rl - A T R |

2 -
¥ T

WIE 6 qa 1,89,800 Fehel TH 10,00,000
i 80,000 AeeRIfer TRATA T 40,000
TEER @ Ryl I R wieqar 31,000
e 2,00,000 ‘
g 1,60,000
ot W =
LGl 36,000
s 25,2.00
F T 3,70,000
TE A 10,000

10,71,000 10,71,000
FfoRe gamn

(i) ‘o N 2REE W T D R g et TR ® R st @ W

E K

(i} w4 g siftgfea S0dew g&e @l % 80,000 i TR 2@ A & ¢ R R 37 @i

W mRe R w2

(iii} a@aﬁﬁﬁqﬁtmmwmﬁs%mﬁﬁw%n |

(iv) oW 32 & JFER T™ & TR T 78,000 B 1
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(v) wag 3k ad & s 7 Faw e wer 9

NG g

¥ ]

wfosifol W e (wehdT) 64,000 50,000
fas aﬁqﬁﬁf F I 7,000 11,000
ARl & I (| ) 4,000 10,000
SeRTfer GO AT 80,000 40,000
Hrfew ¥ EEm 40,000 60,000

T fuitm 7§ 2012-13 & oo W 3k aEieR) &Y ww-dma dr sk el &t o
HoY |

o
(3F) & = 7@ ad 1984-85 F T 6,80,000 B WET @A A |

T 1990 - 91 X ITF T 90,000 B I WA I WIT T | ITH TN 15.05.200 T
o+t T 99 Ry v 9 1984 -85 A W T TERA © 6,00,000 W AW W 3K @
1990-91 ¥ WL T MET T 6,10,000 ¥ I Q|

A Tl FEFAR HE R T T D 1% S 0 @ o7 | SE SR Hehe
T @ 1 04.01.2012 F T F U wiE T 3,015,000 ¥ @I A 15.06.12
N GSl A @R ASET W T 5,00,000 TR UL AR 15112012 T @R A
¥ 2,00,000 W A 3 T HAQ |

15.05.2011 I ¥ U B AGEHET FFHA F ATE A7 4

T Frefeor af 2012-13 %%ﬁfﬁﬁﬂugﬁﬁmmaﬁmﬁi
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(%)

(b)

(c)

(2)

(b)

(c)

(%)

15
(oot - 20n-12 & g wmra Ty Gl 785 @A 1984 - 85 & faw 125 3k
1990-91 & forw 182 2)

37 weldedial @ ol R ®W e e ddvw (Fa w dew w7 ) e
T - wdfein & wemw ¥ I afvad 2

Discuss, in brief, the decision taken by the Supreme Court in the case of
CIT V. Raja Benoy Kumar Sahas Roy (1957). (5)

Explain the provisions relating to set-off and carry forward of business
losses. (5)

Explain the deduction in respect of royalty income of authors under section

80QQB. (5)
OR

What are the provisions of inciusion of income of a minor child of an assessee

in his total income ? Explain in brief. (5)

What are the provisions relating to deduction from gross total
income in respect of medical insurance premia under section 80-D of the
Act? (5)

Under what circumstances are gifts of money received by a person included

in his income ? (%)

TN A B0 AES 77w T f3isT R wew @ (1957 ) WA F forg e Fofa
R GEY H T '

(@) =mR- off 7 3% amt & 9= ¥ FEfE el @ s )

() =@ 80QQB W el WARR (3TaR) & Taeet I ¥ ekt F oI i
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HUdr

(37) iR & e g | Flom T A F WA A N T e 8 7
Heg A N W |

() s S ot ar 80 -9 & ITER ThA [ I A A AlSeher A D Al
FAN wah RN AU ¥ 7 A

(u) frd =afe g IueR-wa T oS @ e oRRufoa § Saa s § A

war e ?

(8500)**x*



